
α)	
  Επειδή	
  το	
  τρίγωνο	
  ΑΒΓ	
  είναι	
  ισόπλευρο,	
  ισχύει	
  ότι	
  BΑΓ	
  =	
  ΑΒΓ	
  =	
  ΑΓΒ	
  =	
  60ο	
  .	
  Τότε	
  

ΑΓΔ	
  =	
  180ο	
  –	
  ΑΓΒ	
  =	
  120ο	
  .	
  

Επειδή	
  ΓΔ	
  =	
  BΓ	
  =	
  AΓ,	
  το	
  τρίγωνο	
  ΑΓΔ	
  είναι	
  ισοσκελές,	
  άρα	
  ΓΑΔ	
  =	
  ΑΔΓ.	
  

Από	
  το	
  άθροισμα	
  γωνιών	
  του	
  τριγώνου	
  ΑΓΔ	
  έχουμε:	
  

ΓΑΔ	
  +	
  ΑΓΔ	
  +	
  ΑΔΓ	
  =	
  180ο	
  ⇔	
  2ΑΔΓ	
  +	
  120ο	
  =	
  180ο	
  ⇔	
  2ΑΔΓ	
  =	
  60ο	
  ⇔	
  ΑΔΓ	
  =	
  30ο	
  

άρα	
  και	
  ΓΑΔ	
  =	
  30ο.	
  Τότε:	
  ΒΑΔ	
  =	
  ΒΑΓ	
  +	
  ΓΑΔ	
  =	
  60ο	
  +	
  30ο	
  =	
  90ο.	
  

	
  
β)	
  Επειδή,	
  ΑΒ	
  ⊥	
  ΑΔ	
  και	
  ΕΔ	
  ⊥	
  ΑΔ	
  είναι	
  ΑΒ	
  //	
  ΕΔ.	
  

Όμως	
  ΑΒ	
  =	
  ΒΓ	
  =	
  ΕΔ	
  και	
  ΑΒ	
  //	
  ΕΔ,	
  οπότε	
  το	
  τετράπλευρο	
  ΑΒΔΕ	
  έχει	
  τις	
  απέναντι	
  

πλευρές	
  του	
  ΑΒ	
  και	
  ΔΕ	
  ίσες	
  και	
  παράλληλες	
  και	
  συνεπώς	
  είναι	
  παραλληλόγραμμο.	
  


